€Y)

@

tca

ta (kN/m)

_tpm D

tpa
Tp

Fsa

Tcatm d

tca

tpa (kN/ )
ta

(T2pa)

Tlpa

T2pa

Tsa

L2 ta

T2pa
L2

= osa As

Tsa
o sa
As

tpa  tca
tpa

(KN/m)

Tlpa T2pa Tsa

L1 ta

kN/m
kN/m2)

kN/m
kN/m2)

(T1pa)
(Tsa)

kN/

(m

kN/
(m

kN/
(kN/m2)
(m2)

tca



Fs

> (N U) tang

S(C1) Sh Ss

- 4 < =

O = O 8

Ss
Tm

>T

(N Wcos8 )

W ul)
(T WsinB )

(Sh Tm cosP )
(Ss Tm sinB tang)

(KN/m)
(KN/m)
(KN/m)
(m
¢)
(kN/m2)
(KN/m)
¢)
(KN/m)
(KN/m)
(KN/m)
¢)



No.1

No.1
Li(n)*tpa | Li(n)*tca | L2(n)*tpa | L2(n)*tca
1 4.658 400.332 3.825 328.722
4.658 400.332 3.825 328.722
Tpa
1 -
Tipa = min(X (L1x tpa), ~ (L1x tca))
1-yp 1 m
1
= X 4.658
1- 0.7
= 15.527  (kN)
Tepa = min(Z (L2x% tpa), Z (L2x tca)) L2 m
= 3.825 (kN)
Tsa = O0sa As O sa (kN/m2)
2
= 264.7x 108 x 2.865x 10-4 As (%)
= 75.837  (kN)

Tpa T2pa < Tlpa < Tsa T2pa



Sh

Ss

Tpa

Tm cosP i
A Tpa
——  cosP i
SH
0.7 x 3.825
1.4

0.113  (kN/m)

Tm sinB i tangi

A Tpa inp
—  sinB i
SH
0.7 % 3.825
1.4

0.695  (kN/m)

Sh

Tm

Tpa
Bi

x cos( 86.60 )

Td

SH
tang i

x sin( 86.60 ) x 0.363970

Tm
Td

Ss

Td / SH
A Tpa

D)

(KN/m)

kN/



30

20—

d(mm) As(cm?) D(mm) SvV(m) SH(m)
D19 19.1 2.865 45.00 1.4 1.4

B Tlpa T2pa Tsa Tpa Td Tm Sh Ss

No. CY | kN | kN ) | (kN ) | (kN ) | (kN ) | (KN/m) (kN/m) (kN/m)
[1] | 86.60 15.527 3.825 | 75.837 3.825 2.678 1.913 0.113 0.695
[2] | 82.07 14.647 | 22.905| 75.837 | 14.647 | 10.253 7.324 1.010 2.640
[3] | 77.55 13.063 | 56.535| 75.837 | 13.063 9.144 6.531 1.408 2.321
[4] | 71.47 29.383 | 70.955| 75.837 | 29.383| 20.568 | 14.691 4.669 11.688
[5] | 66.72 | 80.963 | 72.110| 75.837| 72.110| 50.477| 36.055 14.250 27.791
[6] | 61.79 | 117.140 | 77.948 | 75.837| 75.837 | 53.086 | 37.919 17.924 28.039
[7] | 56.58 | 32.987 | 72.571| 75.837| 32.987| 23.091| 16.49% 9.084 11.552
48.458 84.726




( )
Fsa — 1.500
D mm 45.00
d mm 19.10
T ca | N/mm? 2.7
No.1
L [Li(n) L2n)| T p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
4.500( 2.471| 2.029 20.00 1.885| 162.012 4.658| 400.332 3.825| 328.722
4.500( 2.471| 2.029 4.658| 400.332 3.825| 328.722
No.2
L [Li(n) L2n)| Tt p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
3.895( 2.331| 1.564 20.00 1.885| 162.012 4.394| 377.650 2.948| 253.387
0.605( 0.000| 0.605| 350.00| 32.987| 162.012 0.000 0.000 19.957 98.017
4.500( 2.331| 2.169 4.394| 377.650 22.905| 351.404
No.3
L [Li(n) L2n)| Tt p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
2.829| 2.079| 0.750 20.00 1.885| 162.012 3.919| 336.823 1.414| 121.509
1.671] 0.000| 1.671| 350.00| 32.987| 162.012 0.000 0.000 55.121| 270.722
4.500( 2.079| 2.421 3.919| 336.823 56.535| 392.231
No.4
L [Li(n) L2n)| T p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
2.209| 2.209| 0.000 20.00 1.885| 162.012 4.164| 357.885 0.000 0.000
2.292| 0.141| 2.151| 350.00| 32.987| 162.012 4.651 22.844 70.955| 348.488
4.500( 2.349| 2.151 8.815| 380.729 70.955| 348.488
No.5
L [Li(n) L2n)| T p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
1.143] 1.143| 0.000 20.00 1.885| 162.012 2.155| 185.180 0.000 0.000
2.857| 0.671| 2.186| 350.00| 32.987| 162.012 22.134| 108.710 72.110| 354.158
4.000( 1.814| 2.186 24.289| 293.890 72.110| 354.158




No.6

L [Li(n) L2n)| Tt p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
0.076( 0.076| 0.000 20.00 1.885| 162.012 0.143 12.313 0.000 0.000
3.424| 1.061| 2.363| 350.00| 32.987| 162.012 34.999| 171.895 77.948 | 382.834
3.500( 1.137| 2.363 35.142| 184.208 77.948 | 382.834
No.7
L [Li(n) L2n)| Tt p tpa tca L1 tpa | L1 tca | L2 tpa | L2 tca
2.500| 0.300| 2.200| 350.00| 32.987| 162.012 9.896 48.604 72.571| 356.426
2.500| 0.300| 2.200 9.896 48.604 72.571| 356.426
L (m)
L1 (m)
L2 (m)
Tp (kN/m?)
tpa (kN/m) tpa = LRTD_
tca (kN/m) tca = TtTcam d




No.1

30

20+

C D

Fs | - 1.134
p.Fs| - 1.200
Fs | - 1.724
X m 7.000

Y m 22.000

r m 17.996
Sh | kN/m 48.458
Ss | kN/m 84.726




T
As T sa
= R —— H
sinf SH)

As

T sa

B

SH

Pr
X (m) 7.000
Y m 22.000
r (m) 17.996
Pr (kN/m) 12.5
T (kN/m) 180.777
OK

cm2
N/mm2)

(m



